## **RESOLUTION NO. R-2024-130**

## CONSTRUCTION CONTRACT WITH JOE BLAND CONSTRUCTION, LLC

A RESOLUTION OF THE CITY COUNCIL OF THE CITY OF BASTROP, TEXAS, APPROVING A CONSTRUCTION CONTRACT WITH JOE BLAND CONSTRUCTION, LLC, FOR A NOT-TO-EXCEED AMOUNT OF THREE MILLION, TWO HUNDRED FORTY-SIX THOUSAND, SIX HUNDRED SIX DOLLARS AND ZERO CENTS (\$3,246,606.00) FOR THE CONSTRUCTION OF THE AGNES STREET EXTENSION PROJECT; AUTHORIZING EXECUTION OF ALL NECESSARY DOCUMENTS; PROVIDING FOR FINDINGS OF FACT; PROVIDING FOR REPEALER; PROVIDING FOR SEVERABILITY; PROVIDING AN EFFECTIVE DATE; AND PROVIDING FOR PROPER NOTICE AND MEETING.

- WHEREAS, the City finds it necessary to extend and widen Agnes Street from State Highway 304 to Sterling Drive, and install water, wastewater, storm, and sewer infrastructure along the new roadway; and
- WHEREAS, on December 14, 2021, the City Council passed Resolution No. R-2021-122 entering into a professional services contract with Kimley-Horn for the design and construction phase services for the Agnes Street Extension project ("Project"); and
- **WHEREAS,** on August 13, 2024, the City published an Invitation to Bid ("ITB") for construction services for the Project; and
- **WHEREAS,** Joe Bland Construction, LLC ("Contractor"), timely filed a bid in response to the ITB; and
- **WHEREAS,** Kimley-Horn evaluated all bids that were timely received in response to the ITB, and provided a Recommendation to Award the construction contract for the Project to Contractor, the lowest responsible bidder.
- **WHEREAS**, City has the power to execute the Construction Contract ("Contract") attached and incorporated herein as **Exhibit A**, with Contractor; and
- **WHEREAS,** City desires to hire Contractor to provide those construction services specified in the Contract.

## NOW, THEREFORE, BE IT RESOLVED BY THE CITY COUNCIL OF THE CITY OF BASTROP, TEXAS, THAT:

- **Section 1.** Finding of Facts: All of the above premises are hereby found to be true and correct legislative and factual findings of the City Council of the City of Bastrop, Texas, and are hereby approved and incorporated into the body of this Resolution as if copied in their entirety.
- **Section 2. Execution:** The City Council hereby authorizes the City Manager to execute the Construction Contract with Joe Bland Construction, LLC, (incorporated herein as **Exhibit A**) for a not-to-exceed amount of Three Million, Two Hundred Forty-Six Thousand, Six Hundred Six Dollars and Zero Cents (\$3,246,606.00).
- **Section 3.** Repealer. To the extent reasonably possible, resolutions are to be read together in harmony. However, all resolutions, or parts thereof, that are in conflict or inconsistent with any provision of this Resolution are hereby repealed to the extent of such conflict, and the provisions of this Resolution shall be and remain controlling as to the matters regulated.
- **Section 4. Severability:** Should any portion or part of this Resolution be held for any reason invalid or unenforceable by a court of competent jurisdiction, the same shall not be construed to affect any other valid portion hereof, but all valid portions hereof shall remain in full force and effect.
- **Section 5. Effective Date:** This Resolution shall be in full force and effect from and after its passage.
- Section 6. Proper Notice & Meeting: The City Council hereby finds and declares that written notice of the date, hour, place, and subject of the meeting at which this Resolution was adopted was posted and that such meeting was open to the public as required by law at all times during which this Resolution and the subject matter hereof were discussed, considered and formally acted upon, all as required by the Texas Open Meetings Act, Chapter 551, Texas Government Code, as amended.

DULY RESOLVED & ADOPTED by the City Council of the City of Bastrop, Texas, on this, the 1<sup>st</sup> day of October 2024.

[ Signature Page to Follow]

	THE CITY OF BASTROP, TEXAS:
ATTEST:	Lyle Nelson, Mayor
Irma Parker, City Secretary	
APPROVED AS TO FORM:	
Alan Bojorquez, City Attorney	

## **ATTACHMENT A**



September 24, 2024

Elizabeth Wick, CFM Project Manager Engineering Department City of Bastrop 1311 Chestnut Street Bastrop, Texas, 78602

RE: Agnes Street Extension – SH 304 to Shaefer Boulevard

GLO Contract No: 22-085-059-D316

Dear Ms. Wick:

On September 16, 2024, the City of Bastrop received bids for the Agnes Street Extension project. The following bids were received:

Bidder	<b>GLO Base Bid</b>	Non-GLO Base Bid	Total Base Bid
Joe Bland Construction, LLC	\$2,002,111.00	\$1,244,495.00	\$3,246,606.00
Patin Construction, LLC	\$2,067,765.80	\$1,432,020.42	\$3,499,786.22
Packsaddle Management, LLC	\$2,371,028.00	\$1,505,030.00	\$3,876,058.00
Capital Excavation Company	\$2,554,695.40	\$1,559,057.80	\$4,113,753.20
Aaron Concrete Contractors, LLC	\$2,712,950.35	\$1,839,335.90	\$4,552,286.25

Kimley-Horn and Associates, Inc. has reviewed the lowest bidders' qualifications and verified that the Contractor's bonding company is licensed in the State of Texas. Based on these reviews, it appears that Joe Bland Construction, LLC is the lowest responsive bidder.

Enclosed is a copy of the Bid Tabulation for your reference. Thank you for the opportunity to be of service to the City of Bastrop. Should you have any questions or comments, please to not hesitate to contact us.

Sincerely,

KIMLEY-HORN AND ASSOCIATES, INC.

L 210

Ryan Delmotte, P.E., CFM

Client City of Bastrop		Bidd	ler 1	Bido	ler 2	Bidde	er 3	Bidd	er 4	Bidde	r 5	Engineer's	s OPCC	
											_			
Job No.: GLO Contract No. 22-0850059-D316		Joe Bland Con 9500 W. Parme	,	Patin Con 3800 W		Packsaddle Mana P.O. Box	•	Capital Excavation Co. 2967 Business Park Drive		Aaron Concrete Co 4108 Nixon		Kimley-Horn and Associates, Inc.		
Project: Agnes Street Extension		Austin, T	*	Taylor, T		Horseshoe Bay		Buda, T		Austin, TX		Killing Horn and I	Sociates, me.	
Date: September 16, 2024						T		1		T				
Item No. Item Description	Quantity Unit	Unit Price	Item Cost	Unit Price	Item Cost	Unit Price	Item Cost	Unit Price	Item Cost	Unit Price	Item Cost	Unit Price	Item Cost	
Base Bid - General					GLO Funded Items									
101 MOBILIZATION (5% MAX) (GLO FUNDED)	1.0 LS	\$50,000.00	\$50,000.00	\$25,000.00	\$25,000.00	\$110,000.00	\$110,000.00	\$112,000.00	\$112,000.00	\$140,000.00	\$140,000.00	\$150,000.00	\$150,000.00	
102 STORM WATER POLLUTION PREVENTION PLAN	1.0 LS	\$3,000.00	\$3,000.00	\$2,500.00	\$2,500.00	\$7,566.00	\$7,566.00	\$5,000.00	\$5,000.00	\$15,000.00	\$15,000.00	\$20,000.00	\$20,000.00	
103 RIGHT-OF-WAY AND EASEMENT PREPARATION (GLO FUNDED)	1.0 LS General Subtotal	\$20,500.00	\$20,500.00 <b>\$73,500.00</b>	\$120,000.00	\$120,000.00 <b>\$147,500.00</b>	\$17,765.00	\$17,765.00 <b>\$135,331.00</b>	\$160,000.00	\$160,000.00 <b>\$277,000.00</b>	\$200,000.00	\$200,000.00 <b>\$355,000.00</b>	\$60,000.00	\$60,000.00 <b>\$230,000.00</b>	
Base Bid - Paving  201 UNCLASSIFIED ROADWAY EXCAVATION	8.889.0 CY	\$16.00	\$142,224.00	\$30.00	\$266,670,00	\$40.00	\$355,560,00	\$9.00	\$80.001.00	\$35.00	\$311,115.00	\$30.00	\$266,670,00	
202 COMPACTED ROADWAY FILL & EMBANKMENT	174.0 CY	\$8.00	\$1,392.00	\$15.00	\$2,610.00	\$50.00	\$8,700.00	\$35.00	\$6,090.00	\$32.00	\$5,568.00	\$30.00	\$5,220.00	
203 10" LIME TREATED SUBGRADE	11,250.0 SY	\$10.00	\$112,500.00	\$6.00	\$67,500.00	\$9.00	\$101,250.00	\$8.20	\$92,250.00	\$7.00	\$78,750.00	\$10.00	\$112,500.00	
204 HYDRATED LIME (48 LBS/SY) 205 10" FLEXIBLE BASE (CMP IN PLACE) (TXDOT TY A GR 1-2)	270.0 TON 2.946.0 CY	\$365.00 \$55.00	\$98,550.00 \$162,030.00	\$400.00 \$50.00	\$108,000.00 \$147.300.00	\$400.00 \$80.00	\$108,000.00 \$235.680.00	\$430.00 \$135.00	\$116,100.00 \$397.710.00	\$408.00 \$87.00	\$110,160.00 \$256,302.00	\$350.00 \$90.00	\$94,500.00 \$265.140.00	
206 3" HMA CONCRETE (TXDOT TY D)	1,501.0 TON	\$130.00	\$195,130.00	\$155.412	\$233,273.41	\$155.00	\$232,655.00	\$133.00	\$199,633.00	\$150.00	\$225,150.00	\$220.00	\$330,220.00	
207 CONCRETE CURB AND GUTTER 208 CONCRETE SIDEWALK (4")	6,445.0 LF 1.134.0 SY	\$22.00	\$141,790.00 \$62,370.00	\$18.00	\$116,010.00 \$56,700.00	\$18.00 \$64.00	\$116,010.00 \$72,576.00	\$25.00 \$120.00	\$161,125.00 \$136,080.00	\$25.00 \$120.00	\$161,125.00 \$136,080.00	\$45.00 \$80.00	\$290,025.00 \$90,720.00	
208 CONCRETE SIDEWALK (4") 209 SIDEWALK PEDESTRIAN RAMP (TY 7)	1,134.0 SY 4.0 EA	\$55.00 \$4,000.00	\$62,370.00 \$16,000.00	\$50.00 \$2,000.00	\$56,700.00 \$8,000.00	\$64.00	\$72,576.00	\$120.00 \$4,000.00	\$136,080.00 \$16,000.00	\$120.00	\$136,080.00 \$11,200.00	\$3,500.00	\$90,720.00 \$14,000.00	
210 TRAFFIC CONTROL	1.0 LS	\$12,750.00	\$12,750.00	\$7,500.00	\$7,500.00	\$7,236.00	\$7,236.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$20,000.00	\$20,000.00	
211 REFL PAV MRK TY I (W) 6" LANE LINE 212 REFL PAV MRK TY I (W) 8" SOLID	800.0 LF 715.0 LF	\$3.00 \$3.00	\$2,400.00 \$2,145.00	\$2.60 \$3.575	\$2,080.00 \$2,556.13	\$3.00 \$4.00	\$2,400.00 \$2,860.00	\$1.50 \$2.60	\$1,200.00 \$1,859.00	\$2.40 \$3.30	\$1,920.00 \$2,359.50	\$2.00 \$4.00	\$1,600.00 \$2,860.00	
213 REFL PAV MRK TY I (W) 8" DASHED	111.0 LF	\$3.00	\$333.00	\$3.90	\$432.90	\$4.00	\$444.00	\$3.00	\$333.00	\$3.60	\$399.60	\$6.00	\$666.00	
214 REFL PAV MRK TY I (W) 24" SOLID 217 REFL PAV MRK TY I (W) ARROW	366.0 LF 8.0 EA	\$20.00 \$275.00	\$7,320.00 \$2,200.00	\$22.10 \$325.00	\$8,088.60 \$2,600.00	\$20.00 \$295.00	\$7,320.00 \$2,360.00	\$9.70 \$300.00	\$3,550.20 \$2,400.00	\$21.00 \$300.00	\$7,686.00 \$2,400.00	\$12.00 \$175.00	\$4,392.00 \$1,400.00	
218 REFL PAV MRK TYT (W) ARROW  218 REFL PAV MRK TYT (W) WORD	7.0 EA	\$275.00	\$2,200.00	\$325.00	\$2,730.00	\$353.00	\$2,360.00	\$300.00	\$2,400.00 \$2,240.00	\$360.00	\$2,400.00	\$175.00	\$1,400.00	
219 REFL RAISED MARKER TYPE I-C	40.0 EA	\$9.00	\$360.00	\$10.40	\$416.00	\$10.00	\$400.00	\$10.80	\$432.00	\$10.00	\$400.00	\$4.00	\$160.00	
220 REFL RAISED MARKER TYPE II-C-R 222 REFL RAISED MARKER (BLUE)	40.0 EA 7.0 EA	\$9.00 \$9.00	\$360.00 \$63.00	\$10.40 \$10.40	\$416.00 \$72.80	\$10.00 \$10.00	\$400.00 \$70.00	\$10.80 \$16.20	\$432.00 \$113.40	\$10.00 \$10.00	\$400.00 \$70.00	\$4.00 \$4.00	\$160.00 \$28.00	
223 INSTALL NEW SIGN AND SIGN POST ASSEMBLY	4.0 EA	\$1,100.00	\$4,400.00	\$1,267.50	\$5,070.00	\$1,148.00	\$4,592.00	\$900.00	\$3,600.00	\$1,200.00	\$4,800.00	\$1,000.00	\$4,000.00	
224 PEDESTRIAN HANDRAIL (TY D WACO)	50.0 LF	\$375.00	\$18,750.00	\$390.00	\$19,500.00	\$380.00	\$19,000.00	\$420.00	\$21,000.00	\$390.00	\$19,500.00	\$275.00	\$13,750.00	
229 REMOVE AND REPLACE ASPHALT PAVEMENT 231 STREET END BARRICADES	2.0 SY 2.0 EA	\$50.00 \$1,950.00	\$100.00 \$3,900.00	\$1,000.00 \$2,100.00	\$2,000.00 \$4,200.00	\$100.00 \$2,059.00	\$200.00 \$4,118.00	\$1,900.00 \$2,050.00	\$3,800.00 \$4,100.00	\$36.00 \$2,100.00	\$72.00 \$4,200.00	\$200.00 \$1,000.00	\$400.00 \$2,000.00	
232 4" CONCRETE MEDIAN	173.0 SY	\$115.00	\$19,895.00	\$200.00	\$34,600.00	\$70.00	\$12,110.00	\$150.00	\$25,950.00	\$86.00	\$14,878.00	\$120.00	\$20,760.00	
Base Bid - Illumination	Paving Subtotal		\$1,009,237.00		\$1,098,325.84		\$1,304,412.00		\$1,290,998.60		\$1,372,055.10		\$1,542,571.00	
301 FURNISH AND INSTALL STREET LIGHT POLE	12.0 EA	\$9,950.00	\$119,400.00	\$11,700.00	\$140,400.00	\$6,942.00	\$83,304.00	\$8,200.00	\$98,400.00	\$9,200.00	\$110,400.00	\$5,000.00	\$60,000.00	
302 STREET LIGHT POLE FOUNDATION 303 CONDT (PVC) (SCH 40) (2") (TRENCH)	12.0 EA 2.110.0 LF	\$7,500.00 \$20.00	\$90,000.00 \$42,200.00	\$1,440.00 \$9.42	\$17,280.00 \$19,876.20	\$4,118.00 \$22.00	\$49,416.00 \$46,420.00	\$1,620.00 \$19.50	\$19,440.00 \$41,145.00	\$1,800.00 \$22.00	\$21,600.00 \$46,420.00	\$3,000.00 \$20.00	\$36,000.00 \$42,200.00	
304 CONDT SLEEVE (PVC) (SCH 40) (4")	350.0 LF	\$50.00	\$17,500.00	\$31.08	\$10,878.00	\$82.00	\$28,700.00	\$48.70	\$17,045.00	\$54.00	\$18,900.00	\$30.00	\$10,500.00	
305 ELEC CONDR (NO. 8) BARE	2,110.0 LF	\$2.00	\$4,220.00	\$2.58	\$5,443.80	\$3.00	\$6,330.00	\$1.60	\$3,376.00	\$1.75	\$3,692.50	\$3.00	\$6,330.00	
306 ELEC CONDR (NO. 8) INSULATED 307 TYPE C GROUND BOX WITH APRON	4,220.0 LF 8.0 EA	\$2.00 \$2,750.00	\$8,440.00 \$22,000.00	\$2.70 \$2,220.00	\$11,394.00 \$17,760.00	\$3.00 \$2,389.00	\$12,660.00 \$19,112.00	\$1.80 \$2,650.00	\$7,596.00 \$21,200.00	\$2.00 \$3,000.00	\$8,440.00 \$24,000.00	\$3.00 \$1,300.00	\$12,660.00 \$10,400.00	
308 ELEC SERV TY A	1.0 EA	\$14,250.00	\$14,250.00	\$4,200.00	\$4,200.00	\$1,423.00	\$1,423.00	\$13,800.00	\$13,800.00	\$15,400.00	\$15,400.00	\$3,500.00	\$3,500.00	
Base Bid - Drainage	Ilumination Subtotal		\$318,010.00		\$227,232.00		\$247,365.00		\$222,002.00		\$248,852.50		\$181,590.00	
401 CLASS III 42" RCP	17.0 LF	\$315.00	\$5,355.00	\$600.00	\$10,200.00	\$460.00	\$7,820.00	\$300.00	\$5,100.00	\$390.00	\$6,630.00	\$260.00	\$4,420.00	
402 CLASS III 36" RCP 403 CLASS III 30" RCP	481.0 LF 122.0 LF	\$175.00 \$150.00	\$84,175.00 \$18,300.00	\$185.00 \$120.00	\$88,985.00 \$14,640.00	\$229.00 \$200.00	\$110,149.00 \$24,400.00	\$200.00 \$150.00	\$96,200.00 \$18.300.00	\$230.00 \$180.00	\$110,630.00 \$21,960.00	\$225.00 \$175.00	\$108,225.00 \$21,350.00	
404 CLASS III 24" RCP	591.0 LF	\$95.00	\$56,145.00	\$90.00	\$53,190.00	\$114.00	\$67,374.00	\$120.00	\$70,920.00	\$150.00	\$88,650.00	\$150.00	\$88,650.00	
405 CLASS III 18" RCP	349.0 LF	\$75.00	\$26,175.00	\$80.00	\$27,920.00	\$84.00	\$29,316.00	\$100.00	\$34,900.00	\$106.00	\$36,994.00	\$130.00	\$45,370.00	
406 CLASS III 5'X3' RCB 407 CLASS III 6'X5' RCB	64.0 LF 115.0 LF	\$625.00 \$725.00	\$40,000.00 \$83,375.00	\$550.00 \$650.00	\$35,200.00 \$74,750.00	\$700.00 \$740.00	\$44,800.00 \$85,100.00	\$500.00 \$600.00	\$32,000.00 \$69,000.00	\$593.00 \$872.00	\$37,952.00 \$100,280.00	\$600.00 \$800.00	\$38,400.00 \$92,000.00	
408 TRENCH EXCAVATION PROTECTION (STORM DRAIN)	1,739.0 LF	\$5.00	\$8,695.00	\$5.00	\$8,695.00	\$5.00	\$8,695.00	\$5.00	\$8,695.00	\$1.25	\$2,173.75	\$5.00	\$8,695.00	
409 RIPRAP (STONE PROTECTION)(DRY)(24 IN) 410 RIPRAP (CONC)(5 IN)	317.0 CY 27.0 CY	\$125.00 \$750.00	\$39,625.00 \$20,250.00	\$100.00 \$500.00	\$31,700.00 \$13,500.00	\$150.00 \$863.00	\$47,550.00 \$23,301.00	\$200.00 \$900.00	\$63,400.00 \$24,300.00	\$230.00 \$715.00	\$72,910.00 \$19,305.00	\$250.00 \$1,200.00	\$79,250.00 \$32,400.00	
411 REMOVE CONC RETAINING WALL	11.0 SY	\$130.00	\$1,430.00	\$250.00	\$2,750.00	\$250.00	\$2,750.00	\$530.00	\$5,830.00	\$155.00	\$1,705.00	\$40.00	\$440.00	
412 HEADWALL MODIFICATION (TXDOT DETAIL PW)	1.0 EA	\$4,915.00	\$4,915.00 \$37,000.00	\$12,500.00	\$12,500.00 \$10,000.00	\$18,265.00 \$18,550.00	\$18,265.00 \$37,118.00	\$30,000.00	\$30,000.00 \$54,000.00	\$26,000.00 \$8.000.00	\$26,000.00 \$16,000.00	\$20,000.00	\$20,000.00	
413 SET (TY I)(S=6FT)(HW=6FT)(4:1)(C) 414 6'X6' STORM DRAIN JUNCTION BOX	2.0 EA 1.0 EA	\$18,500.00 \$7,500.00	\$37,000.00	\$5,000.00 \$15,000.00	\$10,000.00 \$15,000.00	\$18,559.00 \$13,500.00	\$37,118.00 \$13,500.00	\$27,000.00 \$14,000.00	\$54,000.00 \$14,000.00	\$8,000.00 \$8,400.00	\$16,000.00 \$8,400.00	\$20,000.00 \$12,500.00	\$40,000.00 \$12,500.00	
415 5'X5' STORM DRAIN JUNCTION BOX	1.0 EA	\$4,500.00	\$4,500.00	\$11,500.00	\$11,500.00	\$8,662.00	\$8,662.00	\$7,000.00	\$7,000.00	\$6,200.00	\$6,200.00	\$10,000.00	\$10,000.00	
416 4'X4' STORM DRAIN JUNCTION BOX 417 4'X4' AREA ZONE DRAIN WITH 2' CONCRETE APRON	1.0 EA 3.0 EA	\$4,500.00 \$4,500.00	\$4,500.00 \$13,500.00	\$7,500.00 \$10,000.00	\$7,500.00 \$30,000.00	\$6,371.00 \$5,480.00	\$6,371.00 \$16,440.00	\$6,000.00 \$7,000.00	\$6,000.00 \$21,000.00	\$4,600.00 \$5.800.00	\$4,600.00 \$17,400.00	\$8,000.00 \$7,000.00	\$8,000.00 \$21,000.00	
418 3'x3' AREA ZONE DRAIN WITH 2' CONCRETE A PRON	3.0 EA	\$5,750.00	\$17,250.00	\$9,000.00	\$27,000.00	\$5,589.00	\$16,767.00	\$7,000.00	\$21,000.00	\$6,200.00	\$18,600.00	\$6,000.00	\$18,000.00	
420 10' CURB INLET (DOUBLE-SIDED)	3.0 EA	\$6,750.00 \$1,000.00	\$20,250.00	\$10,000.00	\$30,000.00	\$6,671.00	\$20,013.00	\$13,000.00	\$39,000.00	\$12,000.00 \$340.00	\$36,000.00 \$340.00	\$6,000.00	\$18,000.00	
421 36" RCP PLUG 422 ARMOR CURB SLOT	1.0 EA 11.0 EA	\$1,000.00 \$4,750.00	\$1,000.00 \$52,250.00	\$1,500.00 \$3,500.00	\$1,500.00 \$38,500.00	\$201.00 \$4,765.00	\$201.00 \$52,415.00	\$2,790.00 \$7,000.00	\$2,790.00 \$77,000.00	\$340.00 \$5,500.00	\$340.00 \$60,500.00	\$250.00 \$7,000.00	\$250.00 \$77,000.00	
423 CONCRETE ARMORING	40.0 SY	\$500.00	\$20,000.00	\$350.00	\$14,000.00	\$104.00	\$4,160.00	\$250.00	\$10,000.00	\$105.00	\$4,200.00	\$110.00	\$4,400.00	
Base Bid - Landscaping	Drainage Subtotal		\$566,190.00		\$559,030.00		\$645,167.00		\$710,435.00		\$697,429.75		\$748,350.00	
Dase Diu - Laliuscapiliu			CC 700 00	\$50.00	\$9,700.00	\$39.00	\$7,566.00	\$146.00	\$28,324,00	\$54.00	\$10,476.00	\$15.00	\$2,910.00	
501 TOP SOIL (4" DEPTH)	194.0 CY	\$35.00	\$6,790.00			*		· · · · · · · · · · · · · · · · · · ·	+ -/					
501 TOP SOIL (4" DEPTH) 502 BLOCK SODDING	1,744.0 SY	\$10.00	\$17,440.00	\$13.14	\$22,916.16	\$11.00	\$19,184.00	\$11.60	\$20,230.40	\$13.00	\$22,672.00	\$11.00	\$19,184.00 \$1,035.00	
501 TOP SOIL (4" DEPTH)					\$22,916.16 \$1,188.00	*		· · · · · · · · · · · · · · · · · · ·	+ -/				\$19,184.00 \$1,035.00 \$16,656.00	

Client Cit	ity of Bastrop			Bidde	r 1	Bidde	er 2	Bidd	ler 3	Bidder 4		Bidder 5		Engineer's OPCC	
	•		-												
Job No.: GL	LO Contract No. 22-0850059-D316		-	Joe Bland Const	•	Patin Cons		Packsaddle Ma		Capital Excav			Contractors, LLC	10 1 11	
Project: Ag	gnes Street Extension		-	9500 W. Parmer I Austin, TX		3800 W : Taylor, T		P.O. Bo Horseshoe Ba		2967 Business Buda, TX 7			xon Lane TX 78725	Kimley-Horn and A	ssociates, Inc.
Date: September 16, 2024				,	-	-,-,			.,,			,			
Item No.	Item Description	Quantity	Unit	Unit Price	Item Cost	Unit Price	Item Cost	Unit Price	Item Cost	Unit Price	Item Cost	Unit Price	Item Cost	Unit Price	Item Cost
	Alternate Bid - Cement Stabilization														
	" LIME TREATED SUBGRADE	-11,250.0		\$10.00	-\$112,500.00	\$6.00	-\$67,500.00	\$9.00	-\$101,250.00	\$8.20	-\$92,250.00	\$7.00		\$10.00	-\$112,500.00
	YDRATED LIME (48 LBS/SY) )* CEMENT STABILIZED SUBGRADE	-270.0 11,250.0	TON	\$365.00 \$8.00	-\$98,550.00 \$90,000.00	\$400.00 \$3.00	-\$108,000.00 \$33,750.00	\$400.00 \$9.00	-\$108,000.00 \$101,250.00	\$430.00 \$11.30	-\$116,100.00 \$127,125.00	\$408.00 \$7.00		\$350.00 \$10.00	-\$94,500.00 \$112,500.00
	EMENT STABILIZATION	270.0	SY	\$265.00	\$71,550.00	\$350.00	\$94,500.00	\$257.00	\$69,390.00	\$280.00	\$75,600.00	\$240.00		\$350.00	\$94,500.00
		Alternate Bid S	ubtotal		-\$49,500.00		-\$47,250.00		-\$38,610.00		-\$5,625.00		-\$45,360.00		\$0.00
	CONSTRUCTION TOTAL - BASE BID			f2 002 44	14.00		GLO Funded Items	£0.074	000.00	\$0.554.C0	NE 40	£0.740	050.05	£0.740.00	00.00
	CONSTRUCTION TOTAL - BASE BID  CONSTRUCTION TOTAL - BID ALTERNATE			\$2,002,11		\$2,067,7 -\$47,25		\$2,371, -\$38,6		\$2,554,695.40 -\$5,625.00		\$2,712,950.35 -\$45,360.00		\$2,742,29	
	CONSTRUCTION TOTAL - BID ALTERNATE  CONSTRUCTION TOTAL - BASE BID + BID ALTERNATE			-\$49,500 \$1,952,61		\$2,020,		-\$30,0 \$2,332,		-\$5,625 \$2,549,07			7,590.35	\$0.00 \$2,742,296.00	
	CONSTRUCTION TOTAL - DAGE DID 4 DID ALTERNATE			φ1,352,0	11.00		GLO (City Funded) I	. , ,	710.00	\$2,549,UI	0.40	φ2,007	,000.00	φ∠,1 4∠,23	70.00
	Base Bid - General					Non-	CLO (City i unided) i	items							
101 MC	OBILIZATION (5% MAX) (Non-GLO FUNDED)	1.0	LS	\$30,250.00	\$30,250.00	\$25,000.00	\$25,000.00	\$71,000.00	\$71,000.00	\$71,000.00	\$71,000.00	\$95,000.00	\$95,000.00	\$105,000.00	\$105,000.00
	FORM WATER POLLUTION PREVENTION PLAN	1.0	LS	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$7,566.00	\$7,566.00	\$3,160.00	\$3,160.00	\$15,000.00		\$20,000.00	\$20,000.00
103 RIC	GHT-OF-WAY AND EASEMENT PREPARATION (Non-GLO FUNDED)	1.0 General S	LS	\$20,500.00	\$20,500.00 <b>\$53,250.00</b>	\$120,000.00	\$120,000.00 <b>\$147,500.00</b>	\$17,765.00	\$17,765.00 <b>\$96,331.00</b>	\$50,000.00	\$50,000.00 <b>\$124,160.00</b>	\$120,000.00	\$120,000.00 <b>\$230,000.00</b>	\$60,000.00	\$60,000.00 \$185,000.00
	Base Bid - Paving	General S	ubiotai		\$33,230.00		\$147,500.00		\$90,331.00		\$124,100.00		\$230,000.00		\$105,000.00
	NCLASSIFIED ROADWAY EXCAVATION	3,150.0		\$16.00	\$50,400.00	\$30.00	\$94,500.00	\$40.00	\$126,000.00	\$9.00	\$28,350.00	\$47.00		\$30.00	\$94,500.00
	OMPACTED ROADWAY FILL & EMBANKMENT	9.0	CY	\$100.00	\$900.00	\$15.00	\$135.00	\$50.00	\$450.00	\$35.00	\$315.00	\$51.00		\$30.00	\$270.00
	)" LIME TREATED SUBGRADE YDRATED LIME (48 LBS/SY)	5,899.0 142.0	SY	\$10.00 \$365.00	\$58,990.00 \$51,830.00	\$6.00 \$400.00	\$35,394.00 \$56,800.00	\$9.00 \$400.00	\$53,091.00 \$56,800.00	\$8.00 \$430.00	\$47,192.00 \$61,060.00	\$9.00 \$408.00		\$10.00 \$350.00	\$58,990.00 \$49,700.00
	)" FLEXIBLE BASE (CMP IN PLACE) (TXDOT TY A GR 1-2)	1,535.0	CY	\$55.00	\$84,425.00	\$50.00	\$76,750.00	\$80.00	\$122,800.00	\$135.00	\$207,225.00	\$87.00		\$90.00	\$138,150.00
	HMA CONCRETE (TXDOT TY D)	769.0	TON	\$130.00	\$99,970.00	\$155.412	\$119,511.83	\$155.00	\$119,195.00	\$133.00	\$102,277.00	\$150.00		\$220.00	\$169,180.00
	ONCRETE CURB AND GUTTER	3,721.0	LF	\$22.00 \$55.00	\$81,862.00	\$18.00 \$50.00	\$66,978.00	\$18.00	\$66,978.00	\$21.40 \$670.00	\$79,629.40	\$25.00		\$45.00	\$167,445.00
	DNCRETE SIDEWALK (4") DEWALK PEDESTRIAN RAMP (TY 7)	2.0 3.0	SY EA	\$4,000.00	\$110.00 \$12,000.00	\$2,000.00	\$100.00 \$6,000.00	\$64.00 \$2,000.00	\$128.00 \$6,000.00	\$3,740.00	\$1,340.00 \$11,220.00	\$270.00 \$2,400.00	\$540.00 \$7,200.00	\$80.00 \$3,500.00	\$160.00 \$10,500.00
	RAFFIC CONTROL	1.0	LS	\$13,500.00	\$13,500.00	\$1,500.00	\$1,500.00	\$7,236.00	\$7,236.00	\$12,000.00	\$12,000.00	\$15,000.00		\$20,000.00	\$20,000.00
	EFL PAV MRK TY I (W) 6" LANE LINE	840.0	LF	\$3.00	\$2,520.00	\$2.60	\$2,184.00	\$3.00	\$2,520.00	\$1.50	\$1,260.00	\$2.40		\$2.00	\$1,680.00
	EFL PAV MRK TY I (W) 8" SOLID EFL PAV MRK TY I (W) 24" SOLID	222.0 311.0	LF LF	\$3.00 \$18.00	\$666.00 \$5,598.00	\$3.575 \$22.10	\$793.65 \$6,873.10	\$4.00 \$20.00	\$888.00 \$6,220.00	\$2.60 \$9.70	\$577.20 \$3,016.70	\$3.30 \$21.00		\$4.00 \$12.00	\$888.00 \$3,732.00
	EFL PAV MRK TY I (V) 4" DOUBLE SOLID	407.0	LF	\$3.00	\$1,221.00	\$3.575	\$1,455.03	\$4.00	\$1,628.00	\$3.00	\$1,221.00	\$3.30		\$4.00	\$1,628.00
	EFL PAV MRK TY I (Y) 8" SOLID	61.0	LF	\$3.00	\$183.00	\$3.575	\$218.08	\$4.00	\$244.00	\$2.60	\$158.60	\$3.30	\$201.30	\$4.00	\$244.00
	EFL PAV MRK TY I (W) ARROW	3.0	EA	\$275.00	\$825.00	\$325.00	\$975.00	\$295.00	\$885.00	\$300.00	\$900.00	\$300.00	\$900.00	\$175.00	\$525.00
	EFL PAV MRK TY I (W) WORD  EFL RAISED MARKER TYPE I-C	2.0 12.0	EA EA	\$325.00 \$10.00	\$650.00 \$120.00	\$390.00 \$10.40	\$780.00 \$124.80	\$353.00 \$10.00	\$706.00 \$120.00	\$320.00 \$10.80	\$640.00 \$129.60	\$360.00 \$10.00	\$720.00 \$120.00	\$200.00 \$4.00	\$400.00 \$48.00
	EFL RAISED MARKER TYPE II-C-R	41.0	EA	\$10.00	\$410.00	\$10.40	\$426.40	\$10.00	\$410.00	\$10.80	\$442.80	\$10.00	\$410.00	\$4.00	\$164.00
	EFL RAISED MARKER TYPE II-A-A	40.0	EA	\$10.00	\$400.00	\$10.40	\$416.00	\$10.00	\$400.00	\$10.80	\$432.00	\$10.00	\$400.00	\$10.00	\$400.00
	EFL RAISED MARKER (BLUE)	5.0 9.0	EA EA	\$10.00	\$50.00 \$0.450.00	\$10.40 \$1.267.50	\$52.00 \$11.407.50	\$10.00 \$1.148.00	\$50.00 \$10.332.00	\$16.20 \$980.00	\$81.00	\$110.00		\$4.00 \$1,000.00	\$20.00
	STALL NEW SIGN AND SIGN POST ASSEMBLY DJUST EXISTING WASTEWATER CLEANOUT	1.0	EA	\$1,050.00 \$750.00	\$9,450.00 \$750.00	\$1,267.50 \$1,500.00	\$11,407.50 \$1,500.00	\$1,148.00 \$2,800.00	\$10,332.00 \$2,800.00	\$980.00 \$1,250.00	\$8,820.00 \$1,250.00	\$1,200.00 \$1,800.00	\$10,800.00 \$1,800.00	\$1,000.00	\$9,000.00 \$1,000.00
	DJUST EXISTING MANHOLE	1.0	EA	\$1,000.00	\$1,000.00	\$1,500.00	\$1,500.00	\$8,000.00	\$8,000.00	\$1,910.00	\$1,910.00	\$1,200.00	\$1,200.00	\$7,500.00	\$7,500.00
	EMOVE CONC CURB AND GUTTER	442.0	LF	\$5.00	\$2,210.00	\$35.00	\$15,470.00	\$18.00	\$7,956.00	\$40.00	\$17,680.00	\$6.00		\$25.00	\$11,050.00
	EMOVE STAB BASE & ASPH PAV(13") EMOVE AND REPLACE ASPHALT PAVEMENT	22.0 97.0	SY	\$5.00 \$40.00	\$110.00 \$3,880.00	\$100.00 \$36.00	\$2,200.00 \$3,492.00	\$150.00 \$100.00	\$3,300.00 \$9,700.00	\$197.00 \$97.50	\$4,334.00 \$9,457.50	\$43.00 \$36.00	\$946.00 \$3,492.00	\$35.00 \$200.00	\$770.00 \$19,400.00
	APID RECTANGULAR FLASHING BEACON (2-WAY SOLAR)	2.0	EA	\$15,000.00	\$3,000.00	\$7,800.00	\$3,492.00 \$15,600.00	\$14,118.00	\$28,236.00	\$14,600.00	\$9,457.50	\$16,000.00	\$3,492.00	\$200.00	\$50,000.00
	FREET END BARRICADES	1.0	EA	\$1,200.00	\$1,200.00	\$2,100.00	\$2,100.00	\$2,059.00	\$2,059.00	\$1,260.00	\$1,260.00	\$2,100.00	\$2,100.00	\$1,000.00	\$1,000.00
	Base Bid - Drainage	Paving S	ubtotal		\$515,230.00		\$525,236.38		\$645,132.00		\$633,378.80		\$693,110.00		\$818,344.00
419 110	' CURB INLET	1.0	EA	\$4,500.00	\$4,500.00	\$9,000.00	\$9.000.00	\$6,671.00	\$6,671.00	\$9,400.00	\$9,400.00	\$13.000.00	\$13,000.00	\$6,000.00	\$6,000.00
	RMOR CURB SLOT	9.0	EA	\$4,750.00	\$42,750.00	\$3,500.00	\$31,500.00	\$4,765.00	\$42,885.00	\$6,800.00	\$61,200.00	\$5,300.00		\$7,000.00	\$63,000.00
423 CC	DNCRETE ARMORING	11.0	SY	\$750.00	\$8,250.00	\$350.00	\$3,850.00	\$104.00	\$1,144.00	\$440.00	\$4,840.00	\$130.00		\$110.00	\$1,210.00
	Base Bid - Landscaping	Drainage S	uptotal		\$55,500.00		\$44,350.00		\$50,700.00		\$75,440.00		\$62,130.00		\$70,210.00
501 TC	DP SOIL (4" DEPTH)	77.0	CY	\$60.00	\$4,620.00	\$50.00	\$3,850.00	\$39.00	\$3,003.00	\$146.00	\$11,242.00	\$52.00	\$4,004.00	\$15.00	\$1,155.00
502 BL	OCK SODDING	686.0	SY	\$10.00	\$6,860.00	\$13.14	\$9,014.04	\$11.00	\$7,546.00	\$11.60	\$7,957.60	\$13.00	\$8,918.00	\$30.00	\$20,580.00
	LET PROTECTION	7.0	EA	\$175.00	\$1,225.00	\$132.00	\$924.00	\$177.00	\$1,239.00	\$125.00	\$875.00	\$140.00		\$35.00	\$245.00
504 TU	JRF REINFORCEMENT MAT & SEEDING	2,240.0 Landscaping S	SY	\$9.00	\$20,160.00 <b>\$32,865.00</b>	\$1.80	\$4,032.00 <b>\$17,820.04</b>	\$10.00	\$22,400.00 <b>\$34,188.00</b>	\$4.40	\$9,856.00 <b>\$29,930.60</b>	\$5.00	\$11,200.00 <b>\$25,102.00</b>	\$2.30	\$5,152.00 <b>\$27,132.00</b>

Job No.:   GLO Contract No. 22-0850059-D316   Joe Bland Construction, LLC   Patin Construction   September 16, 2024   Joe Bland Construction, LLC   September 16, 2024   Joe Bland Construction   Austin, TX 78717   Joe Bland Construction   Austin, TX 78574   Joe Bland Construction   Austin, TX 78657   Buda, TX 78610   Austin, TX 787   Austin, TX 787   Austin, TX 787   Joe Bland Construction   Austin, TX 78717   Joe Bland Construction   Austin, TX 78717   Joe Bland Construction   Austin, TX 78657   Buda, TX 78657   Buda, TX 78610   Austin, TX 787   Austin, TX 787   Austin, TX 787   Joe Bland Construction   Austin, TX 78717   Joe Bland Construction   Austin, TX 78657   Buda, TX 78657   Buda, TX 78610   Austin, TX 787   Austin, TX 787   Austin, TX 78717   Joe Bland Construction   Austin, TX 78717   Joe Bla	_ane	Unit Price  \$520.00  \$250.00	Associates, Inc.  Item Cost	
Date:         September 16, 2024           Item No.         Item Description         Quantity         Unit Price         Item Cost	\$53,100.00 \$47,400.00 \$307,300.00	\$520.00 \$250.00		
Item No.   Item Description   Quantity   Unit   Unit Price   Item Cost   Unit Price   Item Cos	\$53,100.00 \$47,400.00 \$307,300.00	\$520.00 \$250.00		
601 24" STEEL ENCASEMENT PIPE (3/8" THICKNESS) 177.0 LF \$175.00 \$30,975.00 \$300.00 \$53,100.00 \$160.00 \$28,320.00 \$225.00 \$39,825.00 \$300.00 \$602 16" STEEL ENCASEMENT PIPE (1/4" THICKNESS) 237.0 LF \$150.00 \$35,550.00 \$250.00 \$59,250.00 \$84.00 \$19,908.00 \$161.00 \$38,157.00 \$200.00	\$47,400.00 \$307,300.00	\$250.00	\$92,040,00	
602 16" STEEL ENCASEMENT PIPE (1/4" THICKNESS) 237.0 LF \$150.00 \$35,550.00 \$59,250.00 \$84.00 \$19,908.00 \$161.00 \$38,157.00 \$200.00	\$47,400.00 \$307,300.00	\$250.00	\$92 040 001	
	\$307,300.00			
603   12" PVC WATER LINE (AWWA, C900 DR-18, RESTRAINED)   1,756.0   LF   \$110.00   \$193,160.00   \$184,380.00   \$123.00   \$215,988.00   \$131.00   \$230,036.00   \$175.00			\$59,250.00	
	\$42,600.00		\$307,300.00	
604 6° DIP WATER LINE (AWWA, C151, RESTRAINED) 355.0 LF \$75.00 \$26,625.00 \$89.00 \$31,595.00 \$90.00 \$31,950.00 \$129.00 \$129.00 \$120.00		\$110.00	\$39,050.00	
605   12" GATE VALVE (AWWA, C509)	\$22,800.00	\$5,700.00	\$22,800.00	
606 6° GATE VALVE (AWWA, C509) 15.0 EA \$2,000.00 \$30,000.00 \$2,500.00 \$37,500.00 \$37,500.00 \$33,780.00 \$33,780.00 \$3,780.00 \$34,350.00 \$34,350.00	\$46,500.00	\$3,300.00	\$49,500.00	
607 FIRE HYDRANT ASSEMBLY (AWWA, C502) 7.0 EA \$6,500.00 \$45,500.00 \$7,500.00 \$52,500.00 \$52,500.00 \$41,300.00 \$9,400.00 \$65,800.00 \$6,500.00	\$45,500.00	\$8,700.00	\$60,900.00	
608 200A 2" COMBINATION AIR RELEASE VALVE 3.0 EA \$6,250.00 \$18,750.00 \$7,500.00 \$22,500.00 \$10,000.00 \$30,000.00 \$4,210.00 \$12,630.00 \$5,100.00	\$15,300.00	\$6,500.00	\$19,500.00	
609 CONNECT TO EXISTING WATER LINE (WET CONNECTION) 2.0 EA \$1,500.00 \$3,000.00 \$7,500.00 \$3,678.00 \$7,356.00 \$7,600.00 \$15,200.00 \$7,600.00	\$15,200.00	\$6,000.00	\$12,000.00	
610 TRENCH EXCAVATION PROTECTION 2,115.0 LF \$5.00 \$10,575.00 \$3.00 \$6,345.00 \$10,575.00 \$1.0,575.00 \$1.30	\$2,749.50		\$14,805.00	
611 DUCTILE IRON FITTINGS 3.0 TON \$7,500.00 \$22,500.00 \$15,000.00 \$16,000.00 \$48,000.00 \$1,130.00 \$3,390.00 \$19,000.00	\$57,000.00	\$12,000.00	\$36,000.00	
612 CONCRETE SIDEWALK REPAIR 5.0 CY \$235.00 \$1,175.00 \$500.00 \$2,500.00 \$907.00 \$4,535.00 \$1,930.00 \$9,650.00 \$920.00	\$4,600.00	\$140.00	\$700.00	
613 RESTRAIN EXISTING PIPE, 12" DIA. (ALL DEPTHS), INCLUDING EXCAVATION AND BACKFILL 1.0 EA \$1,000.00 \$2,500.00 \$2,000.00 \$2,000.00 \$9,300.00 \$9,300.00 \$1,400.00	\$1,400.00	\$3,000.00	\$3,000.00	
Water Subtotal \$436,810.00 \$512,170.00 \$496,512.00 \$533,914.00	\$661,449.50	DI I	\$716,845.00	
Base Bid - Wastewater				
701 16" STEEL ENCASEMENT PIPE (1/4" THICKNESS) 118.0 LF \$150.00 \$17,700.00 \$29,500.00 \$112.00 \$13,216.00 \$13,216.00 \$19,116.00 \$225.00	\$26,550.00	\$250.00	\$29,500.00	
702 10° PVC WASTEWATER LINE (SDR-26) 560.0 LF \$85.00 \$47,600.00 \$100.00 \$56,000.00 \$111.00 \$62,160.00 \$84.50 \$47,320.00 \$102.00	\$57,120.00	\$175.00	\$98,000.00	
703 6° PVC WASTEWATER LINE (SDR-26) 162.0 LF \$65.00 \$10,530.00 \$95.00 \$15,390.00 \$12,960.00 \$72.50 \$11,745.00 \$84.00	\$13,608.00	\$175.00	\$28,350.00	
704 6' DIA. STANDARD PRE-CAST MANHOLE W/ CIP BASE 1.0 EA \$27,500.00 \$25,000.00 \$17,881.00 \$17,881.00 \$29,900.00 \$29,900.00 \$18,000.00	\$18,000.00	\$8,000.00	\$8,000.00	
705 4' DIA. STANDARD PRE-CAST MANHOLE W/ PRE-CAST BASE 4.0 EA \$9,500.00 \$10,000.00 \$40,000.00 \$9,000.00 \$9,000.00 \$9,100.00 \$36,400.00 \$8,200.00	\$32,800.00	\$8,000.00	\$32,000.00	
706 WASTEWATER CLEAN-OUT 4.0 EA \$750.00 \$3,000.00 \$1,500.00 \$2,485.00 \$9,940.00 \$1,030.00 \$4,120.00 \$1,800.00	\$7,200.00	\$2,000.00	\$8,000.00	
707 CONNECT TO EXISTING WASTEWATER LINE 1.0 EA \$2,500.00 \$7,500.00 \$7,500.00 \$25,000.00 \$7,600.00 \$7,600.00 \$9,600.00	\$9,600.00	\$5,500.00	\$5,500.00	
708 TRENCH EXCAVATION PROTECTION 722.0 LF \$5.00 \$3,610.00 \$5.054.00 \$5.00 \$3,610.00 \$8.20 \$5,920.40 \$1.20	\$866.40		\$5,054.00	
709 DUCTILE IRON FITTINGS 0.1 TON \$4,000.00 \$5,000.00 \$5,000.00 \$1,400.00 \$1,400.00 \$1,130.00 \$113.00 \$18,000.00	\$1,800.00	\$12,000.00	\$1,200.00	
Wastewater Subtotal \$150,840,00 \$182,167,00 \$162,234.40	\$167,544.40		\$215,604.00	
Alternate Bid - Cement Stabilization	<b>\$101,011110</b>		<del>\$2.10,00</del> 00	
203 10° LIME TREATED SUBGRADE -5,899.0 SY \$10.00 -\$58,990.00 \$6.00 -\$35,394.00 \$9.00 -\$53,091.00 \$8.00 -\$47,192.00 \$9.00	-\$53.091.00	\$10.00	-\$58,990,00	
204 HYDRATED LIME (48 LBS/SY) \$365.00 \$51.830.00 \$400.00 \$56.800.00 \$400.00 \$56.800.00 \$400.00 \$56.800.00 \$400.00	-\$57.936.00	\$350.00	-\$49,700.00	
1000A 10° CEMENT STABILIZED SUBGRADE \$5,899.0 SY \$8.00 \$47,192.00 \$9.00 \$53,091.00 \$11.30 \$66,658.70 \$7.00	\$41,293.00	\$10.00	\$58,990.00	
1001A CEMENT STABILIZATION \$265.00 \$37,630.00 \$35,00 \$36,494.00 \$280.00 \$39,760.00 \$240.00	\$34,080.00	\$350.00	\$49,700.00	
Alternate Bid Subtotal \$25,998.00 \$-\$24,797.00 \$-\$20,000.00 \$-\$1,833.30	-\$35,654.00		\$0.00	
Non-GLO (City Funded) Items	<b>\$55,55</b> 1155		<b>\$0.00</b>	
	00	£2.022.4	25.00	
	\$1,839,335.90		\$2,033,135.00	
	-\$35,654.00		\$0.00	
CONSTRUCTION TOTAL - BASE BID + BID ALTERNATE \$1,218,497.00 \$1,407,223.42 \$1,484,724.00 \$1,557,224.50 \$1,803,681.90	.90	\$2,033,135.00		
GLO and Non-GLO Items				
TOTAL AMOUNT BID - BASE BID - GLO and NON-GLO FUNDED \$3,246,606.00 \$3,499,786.22 \$3,876,058.00 \$4,113,753.20 \$4,552,286.2		\$4,775,4		
TOTAL AMOUNT BID - ALTERNATE BID - GLO and NON-GLO FUNDED -\$75,498.00 -\$72,047.00 -\$58,916.00 -\$7,458.30 -\$81,014.00	)0	\$0.0	0	
TOTAL AMOUNT BID - BASE + ALTERNATE BID - GLO and NON-GLO FUNDED \$3,171,108.00 \$3,427,739.22 \$3,817,142.00 \$4,106,294.90 \$4,471,272.2	.25	\$4,775,4	31.00	